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151 J&: -0.1

L —>| No. K4 i) SEAE | MEGL | FosR
5| 825(ILI0 EkE BiEsF 1 1 13.8
4| 586|K#E AWE | 1 2 14.6
70 104K ERL BiEF 1 3 15.4
2| 720(#E % T 1 4| 155
3| 769|fE HIH | FHkE 1 5| 15.5
6| 924|—TH IE |fH 1 6| 15.9

2f J&: -0.1

L —>| No. K4 i) SEAE | AL | RosR
70 695|#H% wbHZ PR 1 1 13.9
6| 770\ HE& A 1 2 14.6
3| 782|uEk % BiEsF 1 3 14.9
4| 1199 B8R £en %R 1 4 15.9
5| 1206|=N o & |fIH 1 5 20.2
2| bH84|HE HE EJ0 1 DNS

3i J&: -0.1

L —>| No. K4 i) SEAE | AL | Rosk
6 L3 Wit BREY =7 | 3 1 12.3
7| 484| BiEH  EHmE  [HUKE 2 2| 13.0
3| 311|v6 %% FEEBEIL 3 3 13.7
2| 239|I N K3E B 3 4 14.4
5 A5|AKT  #ERE | FERE 3 5 15.6
4 9| Hufl BiEsF 3 DNS

441 J&: -0.1

L —>| No. K4 i) SEAE | AL | Rosk
5[ 1001 WEEY | RfE 2 1 14.3
6| 313|/hB TE FEEBEIL 2 2 14.5
21 1492 #RsE et 2 3 15.3
3| 800N E4 FEERE 2 DNS
4 47\5#% HT A 2 DNS
7| 801w e FEERE 2 DNS

58 J&: -0.1

L —>| No. K4 i) SEAE | AL | RosR
4| 101|#HK  HER By 2 1 14.4
2| 234\KO HE Wk 2 2| 146
5| 148|JI{% % = et 2 3 14.7
3 9|5 FET AHLE 2 4 15.0
6| 315(M HEmE  |FHERL 2 DNS
7 179|mR iz [ 9 3 DNS




6 J&: -0.1

L —>| No. K4 i) SEAE | MEGL | RosR
2| 151 A~9E | 2 1 14.2
6 S51(H &K U 2 2| 146
3 48|45 B+ AHLE 2 3 14.6
5| 228|#EM #7T Wk 2 4| 15.1
4| 1207|#JE Zmo&H  |FIH 2 5| 15.9
7 M| EE REA 2 DNS

7 J&: -0.1

L —>| No. K4 i) SEAE | AL | RosR
5| 486[K {1k ABIL 2 1 13.3
7 35| B FiE FEE 2 2 14.1
6 B2k kB |HEkE 2 3| 146
4| 103|FJE HT By 2 4| 14.6
2| 230{1hzN ¥4x%E |RE 2 5|  14.6
3| 241|# ®HE B 2 6 15.4

8iH J&: -0.1

L —>| No. K4 i) SEAE | AL | Bosk
4| 483|NfE FLE HOREY 2 1 13.3
3| 242{)iM P Bz 2 2| 139
6 53| HAKk il A 2 3 14.2
5 231t HAAZ Wk 2 4| 14.9
2 504k HE U 2 5| 15.7
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L —>| No. K4 i) SEAE | MEGL | RosR
5 787\ b Hp By 1 1 14.6
6| 821|HiF W FIHH 1 2| 148
3| 784|HBH  HA BiEF 1 3 15.1
7| 510[mEa EH (S5 1 4| 15.6
2| 485|llyt e = 1 5| 15.6
4| 72118 TE v 1 6| 15.9
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L —>| No. K4 i) SEAE | AL | RosR
3 L3 Wit BEREC2=7 | 3 1 12.2
4| 484| Ll  HERE (A 2 2l 124
5| 486K {1k ABIL 2 3 13.1
6| 483|NfE FHiH HOREY 2 4| 13.3
1| 311|746 4% FEEBEIL 3 5 13.6
2| 825(Ih10 EHE BiEF 1 6 13.7
70 695|#H% wbHZ PR 1 7 13.7
8| 242{/IM i Bz 2 8| 138
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3 9Ia T~ HE R 2T 2 1 13.2
70 1718 b | AR 1 2| 13.3
4 28|it ZEFH FE RS2 1 1 3| 138
5 15|)FH ¥ B S 2 2 4 13.8
6| 146|5M HPE  |[HE 1 5 13.8
2| 370|8/AK Aol |HEEK 2 6| 14.4
Ji: +0.2
~| No. K4 i) SEAE | AL | RosR
8| 1674(% Ay SN M2 1 12.7
7 175|HE B P72 1 2l 129
6 SEEHIES R 2T 2 3 13.0
5[ l44|hft  #E3E H e 1 4| 13.3
3 25|30 H #E ST 1 5 13.3
2 177\H Zyek [ L I v 1 6| 14.0
4 2/ R (BREXT 1 7 15.0
R JE: +0.2
~| No. K4 i) SEAE | AL | Fosk
3| 175|H@E HE [T 1 1 12.7
4 SEEHIES RS 2T 2 2 13.1
5 9 T~ HE R 2T 2 3 13.1
7| l44|hF 3 H e 1 4| 13.3
6| 17188 b7 |[NEE 1 5| 13.3
1| 146|598 =HPE |HEE 6 13.4
2 I5)FH ¥ B S 2 2 7 13.6
8 25|30 H #E ST 1 8 13.7
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L —>| No. K4 i) SEAE | MEGL | RosR
12| 771|8 #&71 U 1 1| 7.29.6
13| 772|BH % U 1 2| 7.30.9
11| 768|fi% ftE& FEAE 1 3| 7.41.0
16| 315N fimE |PHEERL 2 4| 7.42.4
5| 696|HE X FEEBEIL 1 5| 7.53.3
10| 232 KEH HEHE  |KRLE 2 6| 7.56.4
8| 805k Fik REERE 2 7| 7.57.2
9| 452\Il/ N E EE] 2 8| 8.00.6
7| 804|&FH: FEERE 2 9| 8.09.6
17| 886|kffi JEH Ao 10| 8.10.8
3| 582|jin 9 1 11| 8.11.5
6| 697\l 3 FEEBEIL 1 12| 8.17.1
2| 896|EK W¥ 9 1 13| 8.28.4
18| 416\ LKE Wit | 14| 8.29.5
19| 418[Fi X&DH  |HE 15| 8.35.3
4| 479|5W kBT KL 1 16| 8.40.2
1| 897|A101  Hil 9 1 17| 8.44.9
14| 722 kil £ T 1 DNS
15| 278|%7t Hlxs  |EHE 2 DNS
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—>| No. K4 FTIe SEAE | ML | Rosk
15| 414]3Fl 023 | 3 1| 6.58.1
8|  46|5K (13 FEAE 2 2| 7.25.4
1| 448|&EE W Hil 3 3| 7.34.0
16| 413|HNE H&E idig 4| 7.43.9
11| 807|V Hiik FEERE 3 5| 7.44.4
13 90| M4k T pIINCREE] 3 6| 7.50.9
10| 806|¥izN FJy  |FHEERE 3 7| 7.51.5
5[ 229(liE  Axiw Wk 2 8| 7.53.9
7| 225(HbEPT EHE (R E 3 9| 7.54.9
4| 227\ koA KK 2 10| 8.07.1
3| 595[KIE ETF %R 2 11| 8.14.9
6 91|/ H %5 pIINCREE] 3 12| 8.45.6
9| 803|KH 3% FEERE 3 13| 8.52.0
2| 663|HIE 3k It 3 DNS
12| SI3|FE FEERE 3 DNS
14| 277\KIE 96565 |EEH 2 DNS
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L —>| No. K4 i) SEAE | MEGL | RosR
20 21| b &% |BREXTE 1 1| 9.57.6
11 7\HE ET FvFo 2(10.01.6
21 27\ %H XM |BREXTE 1 3/10.03.6
10 63 fET FvFo 4|10.08.6
12 2|4k HEik iy e et 3 5(10.11.7
15 69| PR i == 1 6|10.12.3
9 S5kl —fX FvFo 7110.27.1
23 22|15 BRIK iy e e 8]/ 10.31.3
17 s\ Mttty | FrF2 9]10.33.8
22 31|t & iy e e 1 10/10.34.3
4| 449|hR e EELE 2 11/10.37.4
18 9L b FvFo 12| 10.38.7
24 23|15 ik Ny e 13/10.41.3
13 3jpE 8L |HEEEXTE 14/10.46.9
3| 446[KkFE HWH  |HEDT 3 15/10.49.3
2| 445|FEE i EELE 3 16| 10.54.4
8| 447KE HIAH |HElF 3 17| 10.55.5
7| 898| AR EELE 1 18/11.04.6
5| 451(#EmE Wy |Huld 2 19/11.05.5
14 19|10 3% iy e et 20| 11.07.1
6| 450|fH KRER |[E5lH 2 21|11.24.4
25| 104|d)I BHHE  |JINE LS 22|11.31.8
19 10| HIM 2 FrF 23| 11.55.3
1| 478|E  FkEE W _rp 3 24|12.22.2
16| 286|#E HA B YL S 2 DNS




H1# EEDE

REE| No. K4 i) SEAE | MERE | BlER
7 53| HAKk il A 2 1| 1m30
2| 233|vEEE ) 2 2| 1m25
1 S51{H &K U 2 3| Im20
4| 585|5H A EJ5 1 3| Im20
5| 579|hE % EJ5 1 5| 1ml5
3| bL87|mE E&ET | 1 DNS
6| 594[Hil HE 9 2 DNS
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REE| No. K4 i) SPAE | MERE | BlER

26| Ak EE Ve I 2 1 1| Im45
2 20( B Ot YL A 1 2| 1m40
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REE| No. K4 FTIE SEAE | MEGL | RosR JEGH
15|  242{/11M B Hz 2 1| 4m72 +0.3
13 93|HIA #E HRORE Y 2 2| 4m46 +0.0
14| 239 F  AE e 2 3 3| 4m46 +0.1
18| 712\ =-o%  |PHEA 1 4| 4m30 +0.6
17| 509|&:HL &% (S5 1 5| 4m13 +0.1
6| 444|FE I |BE 2 6| 4m02 0.2
5 49|58 FET FEAE 2 7| 4mol +0.2
7 B2k kB |HEkE 2 8| 3mss8 +0.5
3 48|45 B+ AHLE 2 9| 3m82 0.3
9| 770 E& A 1 10| 3m70 +0.3
1| 151k A9 | 2 11| 3mb58 +0.2
11| 769|fE HTH  |FHEE 1 12| 3m48 +0.8
12| 720|H&HE £ TN | 1 13| 3m42 +0.1
8| 596|E HHT S5 2 14| 3m42 +0.1
10| 721|fEH T5 M | 1 15| 2m99 +0.5
4| 231\ ARk Wk 2 NM
2 47\5#% HT AHLE 2 DNS
16| 510|Mn EH (S5 1 DNS

REE| No. K4 FTIe SEAE | ML | Rosk JEGH
2 28|it ZEFH R ST 1| 4m58 -0.2
1| 369t mHiyE |EREH 2 DNS
3 13|KHS Wik |FERE LT 2 DNS

e AR

REE| No. K4 FTIe SEAE | AL | RosR
5 453|Hyc By EE] 2 1| 10m22
4| 314|8iH HHEE  |FHERLL 2 2| 9m13
2 S50(4ikE  HE U 2 3| 8m64
3 A5|AKT  #ERE | FERE 3 4| 8m42
1| 580|&II i E 95 1 5| 7m66

REE| No. K4 FTIe SEAE | AL | RosR
1 14|98 %)Y Y 5 2 2 1{ 10m65




